Set #4 — Tangential/Normal & Radial/Transverse Cnmpunents

1. Pin A, which is attached to link AB, is constrained to move in
the circular slot CD. Knowing that at t = 0 the pin starts from rest
and moves so that its speed increases at a constant rate of (.8
inches/s”, deterimine the magnitude of its total acceleratin when
a)i=0
b) t=2s.
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2. To study the performance of a race car, a high speed motion-picture camera is positioned at point
A. The camera is mounted on a mechanism which permits it to record the motion of the car as the car

travels on straightaway BC. Determine
a) the speed of the car in terms of b, £, and &,

b) the magnitude of the acceleration of the car in terms of b, &, #,and &,

¢) the average speed of the car during a 0.5-s interval if, L
over this interval, the car travels from the position P b

&= 60" to the position & =35" (b=25m) — b -
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3. Show that r = F:;'aisiné? knowing that at the instant shown, step AB @

of the step exerciser is rotating counterclockwise at a constant rate ¢.
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